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QUESTION 1

What happens when you run terraform plan?

A. It configures, reconfigures, and instantiates resources and their dependencies.

B. It shows the operator the course of action that would be taken if a change is applied.
C. It deletes all existing resources and re-creates them.

D. It shows a dependency graph.

Correct Answer: B

Reference: https://www.terraform.io/docs/commands/plan.html

QUESTION 2

Which certificate format is used with the load balancer?
A. PFX

B. PEM

C. PKCS12

D.CRT

Correct Answer: B

QUESTION 3

Where is the tenancy Oracle Cloud Identifier (OCID) located?
A. given by support on account creation

B. at the bottom of every console page

C. on the Identity ?Users page

D. contained within the compartment OCID

Correct Answer: B

Reference: https://docs.cloud.oracle.com/iaas/Content/General/Concepts/identifiers.htm#two

QUESTION 4

Which statement is true regarding Autonomous Transaction Processing (ATP)?
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A. A database name cannot be used concurrently for both an Autonomous Data Warehouse (ADW) and an ATP
database

B. After terminating a database, the database name is available for immediate reuse
C. A maximum of 8 cores can be enabled for an ATP database

D. A maximum of 2 TB of storage can be enabled for an ATP database

Correct Answer: A

Reference: https://docs.cloud.oracle.com/iaas/Content/Database/Tasks/adwcreating.htm (See note)

QUESTION 5

You need to transfer over 12 TB of data from on-premises to your cloud account. You started copying this data over the
internet and noticed that it will take too long to complete.

Without increasing the costs of your subscription, what is the recommended way to send this amount of data to your
cloud account?

A. Use Data Transfer Service to send your data.

B. Split the data into multiple parts and use the multipart tool.
C. Use a 10 GB FastConnect line to send the data.

D. Send the data over a VPN IPsec tunnel.

E. Compress the data and use the multipart tool.

Correct Answer: A

Reference: https://cloud.oracle.com/storage/data-transfer/faq
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